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F-01

M=1:100

lakas

o1.

ELOTER

kerdmia

5,59 m?

ETKEZO-KONYHA

02.

kerdmia

8,93 m2

03.

NAPPALI

kerdmia

19,58 m?

04.

GARDROB

kerdmia

4,79 m?

SZOBA

05.

lam.parketta

12,07 m?

06.

SZIOBA

lam.parketta

9,09 m?

07.

FURDO

kerdmia

3,96 m?

wWC

08.

kerdmia

1,90 m2

09.

TERASZ

fagydllé kerdmia

10,95 m?

Oss

ol.

,,,w

Z. 65,91 m2+terasz

ELOTER
kerdmia
2,95 m?

) 02.

NAPPALI
kerdmia
21,09 m?

03.

ETKEZO-KONYHA
kerdmia
8,71 m2

04.

FURDO
kerdmia
4,55 m?

~ 05.

TERASZ
fagydllé kerdmia

7.87 m?

ol.

Ossz. 37,30m2+terasz

Kozos terek

SZELFOGO
kerdmia
6,67 m?

02.

54,12

LEPCSOHAZ
kerdmia
19,85 m?

03.

KOZLEKEDO
kerdmia
16,08 M2

04.

KEREKPAR TAR.
kerdmia
7,22 m?

05.

TAROLO
kerdmia
4,55 m?

06.

TAROLO
kerdmia
3,92 m?

07. ELEKTROMOS H.

kerdmia
5,20 m2

08._TAROLO

kerdmia
3,92 m?

43,22

09. TAROLO

kerdmia
3,92 m?

10.| TAROLO

kerdmia
3,92 m?

11.| TAROLO

kerdmia
3,92 m?2

12.| TAROLO

kerdmia
6,38 m2

13.| TAROLO

kerdmia
6,28 m?

14

TAROLO
kerdmia
4,33 m?2

15

TAROLO
kerdmia
4,33 m?

16. TAROLO

kerdmia
4,33 m?

17.. TAROLO

kerdmia
4,33 m?2

18. TAROLO

kerdmia
4,33 m?2

19. HULLADEK TAR.

kerdmia
5,37 m?

Ossz. 118,85m?

N U-01 izlet
01. UZLET
kerdmia
48,79 m?
02. KOZLEK.
kerdmia
8,64 m?
03. RAKTAR
kerdmia
24,34 m?2
04.| RAKTAR
kerdmia
13,51 m?
05. MOsSDO
kerdmia
1,80 m?
06..WC
kerdmia
1,35 m?
Ossz. 98,37m?2
= U-02 izlet
01. UZLET
kerdmia
29,75 m?
02. KOZLEK.
kerdmia
6,11 m?
03. RAKTAR
kerdmia
17,34 m?
04. GEPESZET
kerdmia
4,60 m?
05. MOsSDO
kerdmia
1,80 m?
06..WC
kerdmia
1,35 m?
Ossz. 60,95m?2
Foldszint nettd terilete:
375,59 m?
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